Lattice Multiplication (C)

Use lattice multiplication to find each product.

4 6 5 4 9 2 9 8
4 2 3
3 3 6
46 x 43 = 54 x 23 = 92 x 36 = 98 x 16 =
8§ 2 8 5 6 4 31
3 1 7
0 7 8
82 x 30 = 85 x 17 = 64 x 78 = 31 x31=_
5 5 4 6 1 6 7 4
4 3 5
5 9 1
55 x45 = 46 x 39 = 16 x51=_ T4x12=_
4 1 7 9 8 5 1 3
1 8 1
3 7 9
41 x13=__ 79 x 87 = 85 x 19 = 13 x93 =
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Lattice Multiplication (C) Answers

41 x 13 =533

Use lattice multiplication to find each product.

54x23=1,242

85x 17 = 1,445

46 x 39 = 1,794

79 x 87 = 6,873

92 x 36 = 3,312

64 x 78 = 4,992

16 x51 =816

85x 19 =1,615

13 x93 = 1,209

Math-Drills.com




